



Vendor Ranking

Page 1 of 1

Letting: 02250611 June 11, 2025 11:00 AM **Call Order:** 001 **Contract:** E21S6-R0

District: District 2 Counties: BAKER, COLUMBIA, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DIST/ST-WIDE, HAMILTON, SUWANNEE,

Project(s): 41021257268 (*)

Contract Desc: Furnish and apply herbicides to roadside vegetation.

Rank	vendor vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SABINO FUENTES LAWN & LITTER ROAD SERVICES LLC	Responsive	Winning bid	\$41,084.68	100.00%
2	WATERS BROTHERS ENVIRONMENTAL I	Responsive	Non-Winning Bid	\$44,978.33	109.48%
3	TERRA MAINTENANCE CO.	Responsive	Non-Winning Bid	\$88,691.00	215.87%
4	WD GARDNER LLC	Responsive	Non-Winning Bid	\$287,780.00	700.46%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 3

Letting: 02250611 June 11, 2025 **Call Order:** 001 **Contract:** E21S6-R0

District: District 2 Counties: BAKER, COLUMBIA, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DIST/ST-WIDE,
Project(s): 41021257268 (*)

Contract Descr: Furnish and apply herbicides to roadside vegetation.

HAMILTON,

Contract Descr: Furnish and apply herbicides to roadside vegetation.

SUWANNEE, UNION

Furnish and apply herbicides to roadside vegetation to treat undesirable weeds, grass and brush on State Roads within the

Lake City Operations area in Baker, Columbia, Hamilton, Suwannee and Union counties. RENEWAL OPTION.

Line No / Item ID Alternate Item Description	Quantity Units	(1) SABINO FUE LITTER ROAD S		(2) WATERS ENVIRONI		(3) TERRA MAI	NTENANCE CO.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (CHEM WEED AND GRASS CONTROL (AC							
0005 E580337 2 HERBICIDE (STRIP APPLICATION)	217.000 AC	49.00000	10,633.00	38.69000	8,395.73	65.00000	14,105.00
0010 E580337 3 HERBICIDE (SPOT APPLICATION < SF)	742,400.000 100 SF	0.02820	20,935.68	0.04350	32,294.40	0.09000	66,816.00
0015 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)	45.000 AC	144.00000	6,480.00	37.18000	1,673.10	50.00000	2,250.00
0020 E580337 6 HERBICIDE (HAND APPLICATION)	69.000 AC	44.00000	3,036.00	37.90000	2,615.10	80.00000	5,520.00
0001 CHEM WEED AND GRASS S CONTROL (AC)	ection Totals:		\$41,084.68		\$44,978.33		\$88,691.00

Contract Grand Totals:	\$41,084.68	\$44,978.33	88,691.00
------------------------	-------------	-------------	-----------





Tabulation of Bids

Page 2 of 3

Lettin	ng: ()2250611	June 11, 2025	Cal	Order: 001		Contract:	E21S6-R0	
	e No / Item ID n Description	Alternate	Quantity Units	(4) WD GAR	DNER LLC				
() ir	ndicates item is l	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (CHEM WEED AND GRASS CONTROL (AC								
0005 HERBI	E580337 2 CIDE (STRIP	APPLICATION)	217.000 AC	400.00000	86,800.00				
0010 HERBI SF)	E580337 3 CIDE (SPOT A	APPLICATION <	742,400.000 100 SF	0.20000	148,480.00				
	E580337 4 CIDE (STRIP CATION)(AQU		45.000 AC	400.00000	18,000.00				
0020 HERBI	E580337 6 CIDE (HAND /	APPLICATION)	69.000 AC	500.00000	34,500.00				
0001 (-	AND GRASS S NTROL (AC)	ection Totals:		\$287,780.00				

Contract Grand Totals:

\$287,780.00



06/19/2025

Tabulation of Bids

Page 3 of 3

Letting: 02250611

June 11, 2025

Call Order: 001

Contract:

E21S6-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.